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BERK T 400 —150 =250 C4f).
MR ARSI KR Z.

B
LD O] R R

.a=50—6—10—6—4=24, fik
& D.

02,2000  [fR#RY AG5EZ T 10 000

FIVIEGEE a RRT T
R S VS (T

2 _
10 000 X 5ara=g 77 = 2 000

.

3. (D) 32+40% =80 (JU).

(2) FPANEShEFE S 0.5 h A9 A
¥ =80x20% =16 (A).



BREs EWmsSiIEsE QOO T™H Hs

b A LT PR B,
FESMPNES R EERETE
Ak

gL
4L
0

0.5 1 1.5 2 BfE/h

@)F%ﬁﬂﬁ@ﬁZh%@%ﬂé

Jbﬁm@rﬁ&ﬁ% X 360° =54°,

LR (D CUREEARYE 50 ZEE,

S AN RS AR AR DU 2.

HEE IR AL A MK 50

2 FE RS R Bk 75.

@)ﬁAmg¥ﬁﬁﬁ%i%%%§

. 24
..5oo><50 240 (A,

ﬁﬁﬁAmgamg%a$&%é

PR A 240 A

(3) WOTAJECR » PN RAT
KiK.
M W2, B/NKBRAE
WO AERR R B A N
£ WHBIEUR . BAAKELH—

A i R RS T

ZEEHH

(D #hte s 24

b _@
04: -360

CIDES
TR ) T 46 )7 2 Sl R T 5.

—20. LERIFAE

(4 ANPEILAE R BIAE & 24 PR T
B BRI RN 24 —4 —10 —4 =6
(F). Ah 2 08 g it 18 an k&
7.

A B C D 3I&®
(2) 150°  [fE#]) e siE
FL RN CHER BEIER O M =

o 10 . o
360 ><24—150 .

(3) f&. AR, o RR A
LU

Ay 12 FhAE T RERYAE R

Horp s b i b — 55— i S5 R %

H 6,

e G — B — L RN
1

6 _
122

OFEA G B

BB MR (D AR

& 52 WA 8, wZ,
SORAEAR IR B ARKCN 52.
CHEARAEN 2 +5 486 H4+
2 =27, R /ISR R B P
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»Y

H

HEB . 2 14 BSR4 52,
SRR 52.

(2) X ¥ 4@ F T N

50 X2 +51 X5 452 X8+53 X654 X4+55 X2 _ !

212+4151618
52.4 (km/h).
(3) AgE. HAHWT .

W (D) R R (R

H 52,

— A BT 52 km/h.

TR S 50.5 km/h, T

52 km/h,

PN A S

AR, :
CUIES EX T F-NEE T
R B Rk FEFY
o REL R BB X R R

Fioy 2 4.
251 |
e (D) AR A A

FbE, REAHOIE LI I T R
RGO A ST Y
5T AL F SR R s G
FISPH. R B /oK B
ST, S R
i A TR 5
(2) T AL 00H 52 5 RN K BEFE
5], ;
(3) Mk mE, R5HTSE

ST R B B R A

E. HEHTRH SR,
RS
' 20

" 200
(2) " 100 S5, IS
i o 184 kg, X Bi i 200 4.
PRSI 416 kg,
SRS e 2 (184 +416) +
(100 4200) =2(kg).

SO A HE 1000 X2 =
2 000(kg).

WAk T T BUEUD E R R R
4 2000 kg.

B (1) BRI =
(0.6+3.7+2.2+1.5+28+
L7+1.2+21+32+10) =
2.0,
SARTRZERE 2020 AETHFE—IR
PEAR T B F 1 £ i Sl 2 X 600 X
350 =420 000 (£&).

(2) VOB K RSN .

M 2.0X (1+x)=2.42.
f#fS v, =0.1=10%, 2, =—2.1
().

SO ARG R R 10%.

(3) A LAAE P2 s ROk

0. 005 X2. 42 X100 X600 X350
0.5 X10° X0.07

7260 (£).

1. f&. (1) 100 1000 (4.

7

#




